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1 	 Complete the part-whole model and the sentence.

£6 +  p = £ 

2 	 Circle £8.74

               

3 	 Write < , > or = to compare the amounts.

£3.46 £3.40

£12.28 12 pounds and 82p

nine pounds and 
70 pence

4 	 Draw lines to show where the coins must go to make the 
amounts equal.

1 mark

1 mark

1 mark

Name: 

£ 

 p

1 mark

1 mark

1 mark

2 marks
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1 mark

7 	 Dora has £12.35

Alex has twelve pounds and five pence.

Tommy has this money.

Write the children’s names in order, starting with the child who 
has the least money.

                  

Kim has £4.80 more than Tommy.

How much money does Kim have?� £ 

8 	 Rosie empties her money box.

•	 She has six 50p coins.

•	 She has three 20p coins.

•	 She has two £1 coins.

How much money does Rosie have altogether?

 
� £ 

5 	 Dexter has £10

He spends £5.45 on a book. 

How much money does Dexter have left? 

  £ 

6 	 Here is a receipt.

Pasta	 £1.05

Tomatoes	 £0.75

Bread	 £2.25

Ice-cream	 £2.99

Circle the best estimate for the total cost.

£5              £6              £7              £8
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